
Part list

DescriptionPart numberQtyItem

 C  profile for Golf Brush 2400V4.950.10231

Plate for Golf Brush V4.950.10032

Låsemøtrik M10, DIN 985, A222052004_MIR303

Skive M10, 30/10 x 2,5, DIN 902122058700304

 220250306_MIR285

 2202704336

 220250306210

M16 låsemøtrik2205200737

Skive M16, DIN 1252205870438

3

4

2

6

7

8

5

1

V4950001

Golf Brush 2400



Golf Brush 2400
BOM version: V4950001

Position Item Number Description

1 V4950102 C profile for Golf Brush 2400

2 V4950100 Plate for Golf brush

3 22052004 M10 6 FZB DIN985 Prevailing Torque Hex Nut with polyamid ins

4 22058410 M10 140HV FZB DIN 125 ISO7090 Flat Washer with chamfer

5 22025306 M10x50 St FZB DIN603/555 Round Head Square Neck Bolt with he

6 22027043 M16 C15 FZB DIN580/ ISO3266 Lifting Eye Bolt

7 22052007 M16 6 FZB DIN985 Prevailing Torque Hex Nut with polyamid ins

8 22058704 M16 140HV FZB DIN 125 ISO7090 Flat Washer with chamfer

V4950001

 X =See separate drawing




